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. cosx +siny = 5
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A 7442+ ABC A tan A = 3 o]

1, BC 7} 12
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tanA = —= = —= = -
AB AB 3

= AB=9
kA AC = V02 + 122 = 15 o]t}

JBE2 12x3 =4x AB °|t}.
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@ sinA = cos(90° - A)
@ 1-2sin?A=2cos?2A-1

@Sin(A + B) =sinA +sinB
_ 1
tanA  sinAcosA

® (sinA +cosA)? + (sinA — cosA)? = 2

@ tanA +

B

@ 1-2sin?A=1-2(1-cos?A) =2cos?A -1

1 sinA  cosA
@ tanA + = :
tan A cos sin

sin“ A + cos® A
siriA cosA

sin A cos A
® (sinA + cosA)? + (sinA — cos A)?
=1+2sinAcosA+1-2sinAcosA =2
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CD =8, BC = x&t1l otH

tan30°:A=D: 8
BD x+8
1 8
%:m, x—|—8=8\/§

L~ x=8V3-8=8(V3-1)




M 2x-y+3 =09 T} x Zo] o] R o|Ze] 275 a 2
& o, tana o] gH2?

Vi @3 ® vz @2 ® 1

2x—y+3=0, y=2x+3

. tana =2




cos(2x+40°):% A off, tan6x 2] FH2? (T, 0° < x < 90°)
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1
cos 60° = 3 OB 2x +40° = 60° , x = 10° ©|T}.
s tan60° = V3
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Lx+ 2y O] 278 F51HE?

<Z7A O>sinx = 0.2588
<Z71 @>tany = 0.3640

e AFQI(sin) |2 AFQ!(cos)| EHEI E (tan)
14° 0.2419 0.9703 | 0.2493
15° 0.2588 0.9659 0.2679
16° 0.2756 0.9613 0.2867
17° 0.2924 0.9563 0.3057
18° 0.3090 0.9511 0.3249
19° 0.3256 0.9455 0.3443
20° 0.3420 0.9397 0.3640
21° 0.3584 0.9336 | 0.3839

@© 28° @ 30° ® 32° (@)35° ® 40°

&8 ~

<Z7 O>sinx = 0.2588

Lx=15°
<Z7A @>tany = 0.3640
Ly=20°

SoLx+ Ly =15°+20°=35°
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T5hH?
10
34°
A

Ze sin cos tan

54° 0.8090 0.5878 13764

55° 0.8192 0.5736 1.4281

56° 0.8290 0.5592 1,4826
@® 5.592 @ 8.29 3 13.882
@23.882 ® 29.107

B

o|t.

AB = 10 x sin 56° = 10 x 0.829 = 8.29
BC = 10 x cos 56° = 10 x 0.5592 = 5.592
wtatA AABC o] Ed9] Zo]= 10 + 8.29 + 5.592 = 23.882
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0] CD&?

@ 6V3 (m) (@)16 V3 (m)
® 20V3 (m) @ 68V3 (m)
® 70V3 (m)

~&B

AH =12+ 4V3cos30°

:12+4\/§><‘/7g

=18 (m)
_ 1
DH:4\/§sin30°:4\/§x§ =2v3 (m)

CH = AH - tan60 = 18 V3 (m)
. CD=CH-DH=18V3-2V3=16V3 (m)
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90° oltt. @} @ F2 2 WolE 7ot & @- O w27
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\ A45

@ -2 @ -1 (@)0 @ 1 ® 2

AABC oA AC = 1, /A = 45° 0|22 AB = cos45° = ‘/75 ,
m:sin45°:‘/7§
_ — 1 1
A = = OOEE = — = —— =
AAPQ oA AP = 1, ZA = 45° ©] Q VT
)
V2,PQ =tan45° =1
Hlg3 2ol Yol= aAPQ ¢ Wol- aABC & Hol
AAPQPJ"O]——X(lxl):%
1 V2 W2 1
o] o _ - - = — ooo
AABC 2] Yo] 2><<2><2> 1 @
_ 1 1 2 1 1
HlZzx HBHolWol— - _ - =2 _ - _ - ...
1 1
@-®=-7=0
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@zt 2, #4321 @
® g2, A4 -1 @

® Hdzk1, 55 -3

gL 3,
gt 4,

SF y = sin? x — 2sinx + 2 9] HAZkT} F4ghe0

B

sinx=A (0<A<1)&toH
y=A2-2442=(A-1)2+1
A=0¢% o, A2
A=19d, HA&F1(0=<4a<1)




14. o5 293 Zol ¥iz59] Fo] yA

711 o1 AFR QoA e 5

}_1 J_}L Aol A oh5 _*la o] 10724

&35t OB 9] 4o|& +5HH? 1

A
x L.
0 B T
T sine cosx tanz

43° 0.6820 | 0.7314 | 0.9325
44° 0.6947 = 0.7193 0.9657
45° 0,7071 0,7071 1,0000
46° 0.7193 = 0.6947 | 1,0355
47° 0.7314 | 0.6821 | 1.0724

@0.6821 @ 0.6947 ® 0.7193

@ 0.7314 ® 0.9325

1) tanx = C:D _ D _ 1.0724
OD 1
x=47°
S8 OB
2) cosx = OB _ OB _ o547 — 0.6821

AO




15. thg 28] AZM42EE ABC o1 cosx+ cosy o] 2E7

Vi1 1+ V3
@ 5 @1 @ 2
@ 3 ® 43

AAHC ¢ ABAC (AA 52)
/B=1y, (C=tx

BC= /(2V3)2 +22 =4

AC 2
/x=/LC, cosx=— = —

BC 4

AB 23
e oy D28

2
.'.cosx+COSy:Z+ 4 2




